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DIRECTIONS e Full working should be shown to ensure maximum marks.
1. . ' '
Bxpress 0.46 as a simple fraction.
Express ——=——= in the form a++/b» where ¢ and b are rational numbers.
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Evaluate § . — and express your answer in scientific notation correct to 3
0.4-5.24x10
significant figures.
4. xx?
Express 1[7 in simplest form, without negative or fractional indices.
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Solve : .

(a). Sx(x+2)=3x—2

®). |2x—5|=3x—4




Solve by completing the square : 6x>—10x+3=0. Express your answer in simplest exact

form.

8. | Expand and simplify : (3x—23%).
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Solve and sketch your solution on the number line :
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Sclve by completing the square : 6x* —10x+3=0. Express your answer in simplest exact
form.
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Solve and sketch your solution on the number line :
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